Journal Entry

Dontre is frying to predict the height of @
building. He knows he is 70 feet away
from the building looking up at a 48-
degree angle. Estimate the height of

the building.
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4.2 Non-Right Triangles using
the Law of Sinesl|



Non-Riaht Trianale Tri |

Law of Sines

&Q(ﬁ\ _Sh(B)

<Sn(¢)

x

Q

Law of Cosines

Case 1

Know 52
2 sides 16
included angle )
Our goal ’
3rd side
Case 11
Know 32 2N 24
3 sides
Our goal 37
any angle

W T e ST




Law of Sines

"Ambiguous Case" o
2 pairs! RI6HT
- \\2 PG:W‘S”

Z\
S S
kl:




Ex 1: Solving for a missing of a non-right triangle
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Ex 2: Solving for a missing of a non-right triangle

Anthony wants to measure the height of a tree. He walks
exactly 100 feet from the base of the tree and looks up. The
angle from the ground to the top of the tree is 33°. This

particular tree grows at an angle of 83° with respect to the
ground rather than vertically (90°). How tall is the tree?

180
sm(w)}éin(w)
¥ . [0D

-33
0o sin (33) = X-Sin (64)

—<%3
l00gin(33) —
sin(e?D




sin (104)  sin(®

25 I

Il sin (104) = 25 5in (6)




Team Task:

Find the perimeter of ADEF.
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> Analyze Law of Sines

> Complete all problems
> Ask 3 before me!

VOTE! https://www.ncschoolheroes.com/
2eid=2016770
Finished early?
- makeup work
- missing projects
- fest corrections
- midterm STUDY GUIDE!



